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SECTION-A 
Q1. Answer in one line.  15X1=15   

a. Find the Modulus of -1+¡. 
b. Find quotient of fraction (୶ିଵ)(୶ାଶ)

(ଶ୶ି଼)(୶ିହ)
 

c. Find the value of 8! 
d. Find the number of terms in Expansion of (1 + 2x)ିସ 
e. Find the value of  ଶగ

ଷ
 radian in the degrees 

f. find value of  sin 360° 
g. Evaluate ݊݅ݏ ²20° + ݊݅ݏ ²70° 
h. Evaluate cos 53° cos 37°- sin 53° sin 37° 
i. Evaluate 3sin10 °−4sin ³10° 
j. Find the Polar co-ordinate of the point (-3, 4) 
k. Find the distance between point (-6,7) and (-1, -5) 
l. Find the slop of line 2x+4y-7=0 
m. Find radius of circle x² +y² -8x+16y+7=0 

n. Evaluate k if ቚ8 ݇
4 5ቚ = 0 

o. Find centroid of triangle whose vertices are (4, -3), (-9,7), (8,8) 
SECTION-B 

Q2. Attempt any six questions. 6x5=30 
i. If a² +b² =7ab prove that log ( ௔ା௕

ଷ
) =   ଵ

ଶ
 [݈oga+logb] 

ii. Prove that อ
ݔ + ܽ ݔ ݔ
ݔ ݔ + ܽ ݔ
ݔ ݔ ݔ + ܽ

อ = ܽଶ(3ݔ + ܽ) 

iii. Find the middle term (s) in the Binomial expansion of (x+ଵ
௫
)¹² 

iv. Resolve into Partial fraction ଶ௫ାଵ
௫² ିଷ௫ାଶ

 
v. prove that      tan ܣ13 − ܣ9݊ܽݐ − ܣ4݊ܽݐ =  ܣ4݊ܽݐ ܣ9݊ܽݐ ܣ13݊ܽݐ

vi. A (10,4),B (-4,9),c (-2,1)are the vertices  of a triangle ABC find the equation of the altitude through B 
vii. Find the equation of straight line through (4,5) and parallel to 2x-3y-5=0 
viii. Show that (cosߙ + ߙsin) + ²( ߚݏ݋ܿ  + 4cos ²  ఈିఉ =   ²( ߚ݊݅ݏ 

ଶ
 

ix. Show that ௖௢௦ଵ଺ °ାୱ୧୬ଵ଺°
௖௢௦ଵ଺°ି௦௜௡ଵ଺°

= tan 61° 
SECTION-C 

Q3. Attempt any three questions. 3x10=30 
a. Find the Equation of circle passing through point (1,2)(3,-4)(5,-6) 
b. Prove that sin20° sin °80݊݅ݏ°60 ݊݅ݏ40° = ଷ

ଵ଺
 

c. When  x is so small that its Square and higher powers  may be neglected then show that  
(ଽା଻௫)భ/మି(ଵ଺ାଷ௫)భ/ర

ସାହ௫
= ଵ

ସ
− ଵ଻

ଷ଼ସ
 ݔ

d. From the top of the cliff 150 m high the angles of depression of two boats which are opposite sides of the 
cliff are 60° and 30°. Find the distance between boats. 

e. Solve the equation by Cramer's method. 
3x+y+2z=3 
2x-3y- z=-3 
x+2y+z=4 


